
) $P(x, y, z) = x^2y + xy + yz + zx$

2.

$$x^2y, -4xyz^5.$$

n

n

1.
$$P(x, y, z) = x^2y^2 + 2xy + y^2z^2 + 2yz + z^2x^2 + 2zx + 3xyz$$

2.
$$P(x, y, z) = 5x^4y^2 + 3yz^5 + 3x^3z^3$$

$\text{st } P,$

$\text{st } P = m$

$P(x, y, z)$

$$P(tx, ty, tz) = t^m P(x, y, z), \quad m = \text{st } P.$$

$$P(x, y, z) = 5x^4y^2 + 3yz^5 + 3x^3z^3$$

6.

$$f(x, y, z) = f(x, z, y) = f(z, y, x) = f(y, x, z)$$

$$\sigma_1 = x + y + z, \quad \sigma_2 = xy + yz + zx, \quad \sigma_3 = xyz$$

$\text{st } \sigma_1 = 1,$

$\text{st } \sigma_2 = 2 \quad \text{st } \sigma_3 = 3.$

$$P(x, y, z) = x^2 + y^2 + z^2 .$$

$$x^2 + y^2 + z^2 = (x + y + z)^2 - 2(xy + yz + zx) ,$$

$$x, y, z . \quad , \quad \sigma_1 \quad \sigma_2 .$$

P

σ_2

$$\sigma_2 \quad 2$$

$$P(x, y, z) = x^2 + y^2 + z^2 .$$

$$\sigma_2 = xy + yz + zx$$

$$P(x, y, z) = x^2 + y^2 + z^2 .$$

$$P(x, y, z) = xyz ,$$

$$Q(x, y, z) = x^2y + y^2x + x^2z + z^2x + y^2z + z^2y ,$$

$$R(x, y, z) = x^3 + y^3 + z^3 .$$

$$x^3 + y^3 + z^3 = (x + y + z)[(x + y + z)^2 - 2(xy + yz + zx)] - (xy + yz + zx)(x + y + z) + 3xyz$$

$$= \sigma_1[\sigma_1^2 - 2\sigma_2] - \sigma_2\sigma_1 + 3\sigma_3$$

$$x^2y + y^2x + x^2z + z^2x + y^2z + z^2y = (x + y + z)[(x + y + z)^2 - 2(xy + yz + zx)] -$$

$$-(x^3 + y^3 + z^3)$$

$$= \sigma_1(\sigma_1^2 - 2\sigma_2) - [\sigma_1(\sigma_1^2 - 2\sigma_2) - \sigma_2\sigma_1 + 3\sigma_3]$$

$$= \sigma_2\sigma_1 - 3\sigma_3 .$$

$, P, Q, R$

$\sigma_1, \sigma_2, \sigma_3 .$

$$\sigma_3 = xyz .$$

$\sigma_1, \sigma_2 \quad \sigma_3 .$

$\sigma_1, \sigma_2 \quad \sigma_3 .$

3.

“ ”

$$P(x, y, z) = x^3 y^3 + x^2 y^2 + y^3 z^3 + y^2 z^2 + z^3 x^3 + z^2 x^2$$

$$P(x, y, z) = Q(x, y, z) + R(x, y, z),$$

$$Q(x, y, z) = x^3 y^3 + y^3 z^3 + z^3 x^3 \quad R(x, y, z) = x^2 y^2 + y^2 z^2 + z^2 x^2.$$

$$, x^k y^l z^m \quad O(x^k y^l z^m).$$

1. $P(x, y, z) = x^4 y^4 z + x^4 y z^4 + x y^4 z^4$

, . . . $P(x, y, z) = O(x^4 y^4 z).$

2.

$$P(x, y, z) = x^3 y^2 z + x^3 y z^2 + x^2 y^3 z + x^2 y z + x^2 y z^3 + x y z^2 + x y^3 z^2 + x y^2 z^3 + x y^2 z,$$

$$P(x, y, z) = O(x^2 y^3 z) + O(x^2 y z), . . .$$

$$x^k y^l z^m,$$

, . . . $x^k \quad x^k y^l.$

$$x^k = x^k y^0 z^0 \quad x^k y^l = x^k y^l z^0,$$

(

$$) \quad O(x^k) \quad x^k$$

$$y^k \quad z^k, . . . O(x^k) = x^k + y^k + z^k. \quad , O(x^k) = O(y^k) = O(z^k).$$

$$\begin{aligned}
& O(x^k) \\
O(x^k) & \quad s_k \quad s_k = x^k + y^k + z^k \\
& P(x, y, z) = x^4 + y^4 + z^4 \\
& P(x, y, z) = O(x^4) = s_4.
\end{aligned}$$

$$O(x^2 y^3), O(xy^3), O(x^2 z^2)$$

$$O(x^2 y^3) = O(x^2 y^3 z^0),$$

$$O(xy^3) = O(xy^3 z^0) \quad O(x^2 z^2) = O(x^2 z^2 y^0),$$

$$O(x^2 y^3) = x^2 y^3 + y^2 z^3 + z^2 y^3 + y^2 z^3 + z^2 x^3 + x^2 z^3$$

$$O(yx^2) = yx^2 + xy^2 + xz^2 + zx^2 + yz^2 + zy^2$$

$$O(x^2 z^2) = x^2 z^2 + y^2 z^2 + z^2 x^2$$

$$O(x^k y^l), \quad k \neq l$$

$$O(x^k y^l z^0),$$

$$\begin{aligned}
O(x^k y^l) &= O(x^k y^l z^0) = x^k y^l z^0 + x^k z^l y^0 + y^k x^l z^0 + y^k z^l x^0 + z^k x^l y^0 + z^k y^l x^0 \\
&= x^k y^l + x^k z^l + y^k x^l + y^k z^l + z^k x^l + z^k y^l
\end{aligned}$$

$$, O(x^k y^l),$$

$$k = l$$

$$O(x^k y^k) = x^k y^k + y^k z^k + z^k x^k.$$

$$O(x^k y^l z^m).$$

$$O(x^k y^l z^m) = x^k y^l z^m + x^k y^m z^l + x^l y^k z^m + x^l y^m z^k + x^m y^k z^l + x^m y^l z^k.$$

$$O(x^k y^k z^m) = x^k y^k z^m + x^k y^m z^k + x^m y^k z^k,$$

$$O(x^k y^k z^k) = x^k y^k z^k.$$

$$x^2 y z^2$$

$$O(x^2yz^2) = x^2yz^2 + xy^2z^2 + x^2y^2z.$$

$$xy^2z^3$$

$$O(xy^2z^3) = xy^2z^3 + xy^3z^2 + x^2yz^3 + x^2y^3z + x^3y^2z + x^3yz^2.$$

4.

$$s_k \quad \sigma_1, \sigma_2, \sigma_3$$

$$s_2 = x^2 + y^2 + z^2 \quad s_3 = x^3 + y^3 + z^3$$

$$\sigma_1, \sigma_2, \sigma_3.$$

:

$$s_k = \sigma_1 s_{k-1} - \sigma_2 s_{k-2} + \sigma_3 s_{k-3}. \quad (*)$$

$$\sigma_1, \sigma_2, \sigma_3, s_{k-1}, s_{k-2}, s_{k-3},$$

$$\begin{aligned} \sigma_1 s_{k-1} - \sigma_2 s_{k-2} + \sigma_3 s_{k-3} &= (x+y+z)(x^{k-1} + y^{k-1} + z^{k-1}) - \\ &\quad - (xy + yz + zx)(x^{k-2} + y^{k-2} + z^{k-2}) + xyz(x^{k-3} + y^{k-3} + z^{k-3}) = \\ &= x^k + xy^{k-1} + xz^{k-1} + yx^{k-1} + y^k + yz^{k-1} + zx^{k-1} + zy^{k-1} + z^k - \\ &\quad - yx^{k-1} - xy^{k-1} - xyz^{k-2} - yzx^{k-2} - zy^{k-1} - yz^{k-1} - zx^{k-1} - \\ &\quad - zxy^{k-2} - xz^{k-1} + yzx^{k-2} + xzy^{k-2} + xyz^{k-2} = x^k + y^k + z^k = s_k \end{aligned}$$

(*)

(*)

$$s_k.$$

$$s_0 = x^0 + y^0 + z^0 = 3, \quad s_1 = x^1 + y^1 + z^1 = \sigma_1 \quad s_2 = x^2 + y^2 + z^2 = \sigma_1^2 - 2\sigma_2,$$

(*), :

$$x^3 + y^3 + z^3 = s_3 = \sigma_1 s_2 - \sigma_2 s_1 + \sigma_3 s_0 = \sigma_1(\sigma_1^2 - 2\sigma_2) - \sigma_2 \sigma_1 + 3\sigma_3 = \sigma_1^3 - 3\sigma_1 \sigma_2 + 3\sigma_3.$$

$$s_1 = \sigma_1, s_2 = \sigma_1^2 - 2\sigma_2 \quad s_3 = \sigma_1^3 - 3\sigma_1 \sigma_2 + 3\sigma_3$$

(*),

$$s_4 = \sigma_1^4 - 4\sigma_1^2 \sigma_2 + 2\sigma_2^2 + 4\sigma_1 \sigma_3.$$

$$s_5, \dots, s_n, s_1, s_2, s_3 \quad (*)$$

$s_n = x^n + y^n + z^n$	$\sigma_1, \sigma_2, \sigma_3$
$s_0 = 3$	$s_1 = \sigma_1$
$s_2 = \sigma_1^2 - 2\sigma_2$	
$s_3 = \sigma_1^3 - 3\sigma_1\sigma_2 + 3\sigma_3$	
$s_4 = \sigma_1^4 - 4\sigma_1^2\sigma_2 + 2\sigma_2^2 + 4\sigma_1\sigma_3$	
$s_5 = \sigma_1^5 - 5\sigma_1^3\sigma_2 + 5\sigma_1\sigma_2^2 - 5\sigma_1^2\sigma_2 - 5\sigma_2\sigma_3$	
$s_6 = \sigma_1^6 - 6\sigma_1^4\sigma_2 + 9\sigma_1^2\sigma_2^2 - 2\sigma_1^3 + 6\sigma_1^3\sigma_3 - 12\sigma_1\sigma_2\sigma_3 + 3\sigma_3^2$	
$s_7 = \sigma_1^7 - 7\sigma_1^5\sigma_2 + 14\sigma_1^3\sigma_2^2 - 7\sigma_1\sigma_2^3 + 7\sigma_1^4\sigma_3 - 21\sigma_1^2\sigma_2\sigma_3 + 7\sigma_1\sigma_3^2 + 7\sigma_2^2\sigma_3$	
.....	

n .

$$5. \quad O(x^k y^l z^m) \quad \sigma_1, \sigma_2, \sigma_3.$$

$$\sigma_1, \sigma_2, \sigma_3.$$

$$O(x^k y^l), \quad k \neq l$$

$$O(x^k y^l) = O(x^k)O(y^l) - O(x^{k+l}). \quad (**)$$

$$\begin{aligned} O(x^k)O(y^l) - O(x^{k+l}) &= (x^k + y^k + z^k)(x^l + y^l + z^l) - (x^{k+l} + y^{k+l} + z^{k+l}) \\ &= x^k x^l + x^k y^l + x^k z^l + y^k x^l + y^k y^l + y^k z^l + z^k x^l + z^k y^l + z^k z^l - x^{k+l} - y^{k+l} - z^{k+l} \\ &= x^k y^l + x^k z^l + y^k x^l + y^k z^l + z^k x^l + z^k y^l = O(x^k y^l) \end{aligned}$$

$$O(x^k) = s_k, \quad O(x^l) = s_l, \quad O(x^{k+l}) = s_{k+l}, \quad (**)$$

$$O(x^k y^l) = O(x^k)O(y^l) - O(x^{k+l}) = s_k s_l - s_{k+l}.$$

$$k = l, \dots, \quad O(x^k y^k)$$

$$O(x^k y^k) = \frac{1}{2}[O(x^k)O(y^k) - O(x^{2k})] = \frac{1}{2}[(O(x^k))^2 - O(x^{2k})]. \quad (***)$$

$$\begin{aligned}
\frac{1}{2}[(O(x^k))^2 - O(x^{2k})] &= \frac{1}{2}[(x^k + y^k + z^k)^2 - (x^{2k} + y^{2k} + z^{2k})] \\
&= \frac{1}{2}(x^{2k} + y^{2k} + z^{2k} + 2x^k y^k + 2y^k z^k + 2z^k x^k - x^{2k} - y^{2k} - z^{2k}) \\
&= \frac{1}{2}2(x^k y^k + y^k z^k + z^k x^k) = x^k y^k + y^k z^k + z^k x^k = O(x^k y^k)
\end{aligned}$$

$$O(x^k) = s_k \quad O(x^{2k}) = s_{2k}, \quad (***)$$

$$O(x^k y^k) = \frac{1}{2}(s_k^2 - s_{2k}).$$

$$s_l, l \in \mathbb{N}$$

$$\sigma_1, \sigma_2, \sigma_3,$$

$$O(x^k y^l)$$

$$\sigma_1, \sigma_2, \sigma_3.$$

$$O(x^k y^l z^m)$$

$$O(x^k y^l).$$

$$O(x^k y^l z^m), \quad k \neq l \neq m \neq k$$

:

$$1. \quad m < k, m < l. \quad O(x^k y^l z^m)$$

$$\begin{aligned}
O(x^k y^l z^m) &= x^m y^m z^m (x^{k-m} y^{l-m} + x^{k-m} z^{l-m} + x^{l-m} y^{k-m} + x^{l-m} z^{k-m} + \\
&\quad + y^{k-m} z^{l-m} + y^{l-m} z^{k-m}) = (xyz)^m O(x^{k-m} y^{l-m})
\end{aligned}$$

$$2. \quad k < m, k < l. \quad O(x^k y^l z^m)$$

$$\begin{aligned}
O(x^k y^l z^m) &= x^k y^k z^k (y^{l-k} z^{m-k} + y^{m-k} z^{l-k} + x^{l-k} z^{m-k} + \\
&\quad + x^{l-k} y^{m-k} + x^{m-k} z^{l-k} + x^{m-k} y^{l-k}) \\
&= (xyz)^k O(x^{l-k} y^{m-k})
\end{aligned}$$

$$3. \quad l < k, l < m.$$

$$\begin{aligned}
O(x^k y^l z^m) &= x^l y^l z^l (x^{k-l} z^{m-l} + x^{k-l} y^{m-l} + y^{k-l} z^{m-l} + \\
&\quad + y^{m-l} z^{k-l} + x^{m-l} y^{k-l} + x^{m-l} z^{k-l}) \\
&= (xyz)^l O(x^{k-l} y^{m-l})
\end{aligned}$$

$$O(x^k y^k z^m)$$

:

$$1. \quad k < m. \quad O(x^k y^k z^m)$$

$$\begin{aligned}
O(x^k y^k z^m) &= x^k y^k z^k (z^{m-k} + y^{m-k} + x^{m-k}) \\
&= (xyz)^k (z^{m-k} + y^{m-k} + x^{m-k}) = (xyz)^k s_{m-k}
\end{aligned}$$

2. $m < k$.

$$\begin{aligned} O(x^k y^k z^m) &= x^m y^m z^m (x^{k-m} y^{k-m} + x^{k-m} z^{k-m} + y^{k-m} z^{k-m}) \\ &= (xyz)^m O(x^{k-m} y^{k-m}) \\ &O(x^k y^l) \end{aligned} \quad k, l$$

$\sigma_1, \sigma_2, \sigma_3$,

$$O(x^k y^l z^m) \quad k, l, m \in \mathbb{N}$$

$\sigma_1, \sigma_2, \sigma_3$.

:

$$P = P(x, y, z)$$

$\sigma_1, \sigma_2, \sigma_3$.

$\sigma_1, \sigma_2, \sigma_3$.

$$P(x, y, z) = 3x^3 yz + x^3 + 3xy^3 z + z^3 + 2x^2 y^2 + 3xyz^3 + 2x^2 z^2 + y^3 + 2y^2 z^2$$

$\sigma_1, \sigma_2, \sigma_3$.

$$\begin{aligned} P(x, y, z) &= 3x^3 yz + x^3 + 3xy^3 z + z^3 + 2x^2 y^2 + 3xyz^3 + 2x^2 z^2 + y^3 + 2y^2 z^2 \\ &= O(x^3) + 2O(x^2 y^2) + 3O(x^3 yz) \\ & \quad (*), (**), (***) \end{aligned}$$

$$O(x^3 yz) = xyz O(x^2) = \sigma_3 s_2, \quad O(x^3) = s_3,$$

$$O(x^2 y^2) = O(x^2) O(x^2) - O(x^4) = s_2^2 - s_4,$$

s_2, s_3, s_4 :

$$s_2 = \sigma_1^2 - 2\sigma_2, \quad s_3 = \sigma_1^3 - 3\sigma_1 \sigma_2 + 3\sigma_3, \quad s_4 = \sigma_1^4 - 4\sigma_1^2 \sigma_2 + 2\sigma_2^2 + 4\sigma_1 \sigma_3,$$

$$\begin{aligned} P(x, y, z) &= O(x^3) + 2O(x^2 y^2) + 3O(x^3 yz) = s_3 + 2s_2^2 - 2s_4 + 3\sigma_3 s_2 \\ &= \sigma_1^3 - 3\sigma_1 \sigma_2 + 3\sigma_3 + 2(\sigma_1^2 - 2\sigma_2)^2 - 2(\sigma_1^4 - 4\sigma_1^2 \sigma_2 + 2\sigma_2^2 + 4\sigma_1 \sigma_3) + 3\sigma_3(\sigma_1^2 - 2\sigma_2) \\ &= \sigma_1^3 + 4\sigma_2^2 + 3\sigma_1^2 \sigma_3 - 3\sigma_1 \sigma_2 - 8\sigma_1 \sigma_3 - 6\sigma_2 \sigma_3 + 3\sigma_3. \end{aligned}$$

$\sigma_1, \sigma_2, \sigma_3$

1. $x^4 + y^4 + z^4 - 2x^2y^2 - 2x^2z^2 - 2y^2z^2$
2. $x^5y^2 + x^5z^2 + x^2y^5 + x^2z^5 + y^5z^2 + y^2z^5$
3. $(x+y)(y+z)(z+x)$.
4. $(x^2 + y^2)(y^2 + z^2)(z^2 + x^2)$.
5. $(x-y)^2(y-z)^2(z-x)^2$.
6. $x^6 + y^6 + z^6 + 2x^5y + 2x^5z + 2xy^5 + 2xz^5 + 2y^5z + 2yz^5 - 3x^4y^2 - 3x^4z^2 - 3x^2y^4 - 3x^2z^4 - 3y^4z^2 - 3y^2z^4 + x^3y^3 + y^3z^3 + z^3x^3$
7. $a + b + c = 0$,
) $\frac{a^7+b^7+c^7}{7} = \frac{a^5+b^5+c^5}{5} \cdot \frac{a^2+b^2+c^2}{2}$,
) $(\frac{a^7+b^7+c^7}{7})^5 = (\frac{a^5+b^5+c^5}{5})^2 \cdot \frac{a^4+b^4+c^4}{2}$,

$\sigma_1, \sigma_2, \sigma_3$.

$$8. \quad \begin{cases} x + y + z = 2 \\ x^2 + y^2 + z^2 = 6 \\ x^3 + y^3 + z^3 = 8 \end{cases}$$

$$9. \quad \frac{a^3 + b^3 + c^3 - 3abc}{(a-b)^2 + (b-c)^2 + (c-a)^2},$$

$\sigma_1, \sigma_2, \sigma_3$.

(**), (***) s_0, s_1, s_2

$\sigma_1, \sigma_2, \sigma_3$.

(*)

s_k .